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Please make sure that the printed pages in this question paper of Part-II are 8 in
number and it contains 40 questions.

o Gl GrUEr OF o FIT-GF GT HasY [A@)
Candidates must write their Roll Number on the question paper.

o FYIT FFH F IAY 37 7 §@ 7 GARGT I @ & F-9F §9 T G& £, GOH F I 39
g § @ o arar @ T8 R

Before answering the questions, ensure that you have been supplied the correct and
complete question paper, no claim in this regard, will be entertained after
examination.

G [ -
General Instruction :
(i) & FT a8
All questions are compulsory.
(i) B TV ST Frre-grecrRr 4 k&g

Write correct answer in your answer-book.

5503/(Set : B)/ Il | B 2



(2) 9503/(Set : B)
1. §@E 3825 F AT THEYS B THEA $ & § HH HiorQl 1

Express 3825 as a product of its prime factors.

2. 64 TU1 96 F HCF &1 B ? 1
What is HCF of 64 and 96 ?
3. % e 950 @ Fifm, Fas g & 9 T PR A -3 A2 B 1

Find a quadratic polynomial, the sum and product of whose zeroes are
-3 and 2 respectively.

4. K% a1 a9 & fog, fr=r s afiel & 3w &1 0% afadm &9 8 7 1

4x+ Ky+8=00q 2x+2y+2=0

For what values of K does the pair of linear equations 4x + Ky + 8 = 0 and
2x + 2y + 2 = 0 has unique solution ?

5. K% f5g W & foq fauma aie K2 - 4x+2=0 % qd a&T & ¢ 1
For what values of K, quadratic equation Kx* — 4x + 2 = 0 has equal roots ?

6. PAp. 7. 4, .. FH 581 U5 S ST 1
Find 5th term of A. P. 10, 7, 4 ............ )

, , A
7. i # DE||BC Bl EC & daE sa $im 1
1.5cm 1 em
In figure DE||BC. Find length of EC. D E
3 cm
B C
8. ﬂﬁ'sinA:%,ﬁTcosAﬂﬂqﬁmzﬁﬁﬂ‘II 1
. 3
If sinA = = find value of cos A.
9. sin 45° + cos 45° &% W T HioQl 1

Find the value of sin 45° + cos 45°.
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

(3) 5503/(Set : B)
7 G BoOr 9 O g9 3 U BeEevs @ aakd s i, R @ 60° 3 1

Find the area of a Sector of a circle with radius 7 cm if angle of the Sector is
60°.

W@T%%WMW%WWWI 1

Whether the Rational number % will have a terminating decimal expansion

or non terminating repeating decimal expansion.

feama g Tor 322 - 5x + 2 = 0 F fafagast s S 1

Find discriminant of quadratic equation 3x° - 5x + 2 = 0.

THAT AE 7, 5,3, 1 everennns H T RIS Hiorg 1
Find common difference of A.P. 7,5, 3, 1 ........... ’

WP 2.7 12, 5. % T8 6 UaI P AT A B 1
Find the sum of first 6 terms of A.P. 2,7, 12 ............

g ... . B B (gFey garm) 1
All eiteles dre 2.0 6 . (Similar/ Congruent)

et gm0 @ WIRET T ..o frgalt W oftredT F B 1
A tangent to a circle interSEcts 3t 100 0o i ssn s points

I fag & g W die i weiRas’ f a=Ea e Bt B 1

The lengths of tangents drawn from an external point to a circle are ............ ;

famgatt (-5, 7) R (-1, 3) 3 99 & T T B 1

Find distance between the points (-5, 7) and (-1, 3).

cos’ B +sin O B AN = oo, BT B 1

The value of cos2 0 + sin? 8= ........co........ A
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20.

21.

22.

23.

24.

(4) 5503/(Set :

IR} P(E)=0.15 &, @ ‘E & F midwar F4m a6 ?
If P(E) = 0.15, what is the probability of event 'not E' ?

frfatag # & $W-01 ger quieg & 7

(a) V4 B) 5 () o9 (D) 16
Which of these is an Irrational number ?
(a) 4 B) 5 (@ o (D) V16
fEma 989% 2x° + 5x- 3 B IR B AMEA B

-3 -2 -9 =3
A) — B) — C} — D)y —
(A) = (B) - (€) > (D) =
Sum of zeroes of quadratic Polynomial 2x* + 5x — 3 is :

-3 -2 -5 -
A — B) — C) — D) —
(4) 5 (B) 5 (©) 2 (D) 5
fEeTe g & I x- 3y -3 =0 T4 3x-9y -2 = 0 & B B :
(A) SIETE OF A (B) g & 7EI
(C) IR I+ & (D) T ¥ FE TEl
The pair of linear equations x—- 3y -3 = 0 and 3x—- 9y - 2 = 0 has solution :
(A) Unique Seolution (B) No Solution
(C) Infinitely Many Solutions (D) None of these

T § P-4 fEaa g B 7

(A) (x+2)(x+1)=(x-1)(x+3)

(B) ¥+3x+1=(x-2)?

(C) (x+1)°=2(x-3)

(D) (x+2)°=2x(x¥-1)

Which of these is a quadratic equation ?
(A) (e+2) (x+1)=(x-1) (x+3)

(B) £ +3x+1=(x-2)°

(C) (x+1)*=2(x~3)

(D) (x+2)P°=2x(2-1)
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(5) 9503/(Set : B)

25. Tz THE 2 -3x-10=0 % Td 800 ¢ 1
(A) 5,2 (B) 5,2
(€] 52 Dy S, 3
Roots of the quadratic equation x* - 3x—- 10 = 0 are :
(a) 5,2 (B) 5,-2
€ H5;2 (D) 5,3
26. IT9H § BE-T1 A.P. Rl 7 7 1
(AN 2,49,8, B........;: (B) 194, 0.22, 028 .....iii
(C) =T 9. D) 1,2,4,8 .cecrnne
Which one is A.P. series ?
Al 2.4, 8. 08 (B) 0.2, 0.22, £
(€] 8, 5079 . hvered D) 1.2, 48 ........
27. AABC @ AQRP §H&W (¥ 81 7H HW&9w & $H-H FHC! TGFT B ? 1
(A) S.AS. A i
(B) A.AA. ) L 5 X
(C) S.S8.8.
(D) & & B T BV © oy TR

AABC and AQRP are similar. Which similarity criterion is used ?

P
(A) S.A.S. A
(B) A.AA. & 3 & .
(C) S.8.S.
B C
(D) None of these 2.9 R 4 R

28. uF g Q ¥ UF g0 W WG F TEE 24 A% W O B I Y gl 25 AW B g
%t B 7 ]
(A) 7 T (B) 12 1 (€) 15 @ (D) 24.5 ¥H

From a point Q, the length of the tangent to a circle is 24 cm and distance of Q
from the centre is 25 cm. The radius of the circle is :

(A) 7 cm (B) I[Ecm (C) 15 cm (D) 24.5 cm
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(6) 5503/(Set : B)
29. ok & g P A O F= I fhdl 99 W PA T PB ®Wsf @Y TWEIX 80° & HIT T

gl B, @ | PoA T R 1
(A) 80° (B) 70°
(C) 60° (D) 50°

If tangents PA and PB from a point P to a circle with centre O are inclined to
each other at angle of 80°, then | POA is equal to :

(A) 80° (B) |70t
(C) 60° (D) 50°
30. fgalt (-1, 7) @ (4, -3) B AW o TErEve B A g B Fadens ® 1
1
@ (52 B (@ 1)
3 -3 1
© (32 I ([
Co-ordinates mid point of line joining two points (-1, 7) and (4, -3) is :
1
() (E’ z} B (2 1)
: 3 -3 1
© 79 o (33)
3l. y-o¥ W i favg & Feens &R 1
(A) (6 Y (B) (x 0)
(C) (4 0) (D) (0, y)
Co-ordinates of any point on y-axis are :
(A) (6 y) (B) (x, 0)
(€) (y, 0) (D) (0, y)
32. 7@ fag & FRem® 8 @ ¢ 1
(A)  (x 0) (B) (0,0) €) (oY (D) (O, y)
The co-ordinates of origin are :
(A)  (x, 0) (B) (0,0) C) (%Y (D) (0, y)
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(7) 9503/(Set : B)

33. IR 0% ga W AN IR FAGA IS UK 5, O 99 ga H Brear 2 1
(A) 2 AEH (B) m WE=H
(C) 4 WE® (D) 7 AE®
If the perimeter and area of a circle are numerically equal, then radius of the
circle is :
(A) 2 Unit (B) =w Unit
(C) 4 Unit (D) 7 Unit

34. g & A9 g fFew 7 Sl HEy # 1
(A) =g = 7‘;; - (B) =g = B
(C) =| =2 x B (D) Froam =2 x <
The relation between diameter and radius of a circle is :
(A) Diameter = gty (B) Diameter = Radius
(C) Diameter = 2 x Radius (D) Radius = 2 X Diameter

35. T Fe o=, AE O HuE ®Ad: 10 @, 6 A qw 4 T B, F AT B0 1
(A) 240 FH° (B) 250 dH®
(C) 400 TH> (D) 280 HH®

The volume of cuboid whose length, breadth and height are 10 cm, 6 cm and
4 cm respectively is :

(A) 240 cm® (B) 250 cm®
(C) 400 em? (D) 280 ¢m?
36. RO B ar Mt B Y AABa A 8 1

(A) =R (B) 2 nR*

(C) 3 =R (D) 4nR?

Surface area of a sphere of radius Ris :

(A) nR? (B) 2nR?

(C) 3nR® (D) 4nR?
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37.

38.

39.

40.

(8) 9503/(Set : B)

TRl 5 Wiepd HEAweT @ A 1

(A) S (B) 4 €) 3 (D) 2

Mean of the first 5 Natural numbers is :

(A) 5 (B) 4 € 3 (D) 2

frfefaa st 2, 3, 5, 3, 6, 4, 3, 5 F FgTH BFT 1

(A) 2 (B) 3 (€4 (D) S

Mode of the following data 2, 3, 5, 3, 6, 4, 3, 5 will be :

(a) 2 (B) 3 (C) 4 (D) S

UF A F 4 @9 T 6 FM R B AA H F 0F e agmw Pl S 81 e E i

% I B4 S BeT 1
2 4 6 3

(A) 5 (B) 5 (€) 10 (D) 5

A bag contains 4 red and 6 black balls. A ball is drawn at random from the
bag. The probability that the ball drawn is red :

2 4 6 3

@ < ® © b D) <

I H S-G G 6 gear @ i 787 81 qel ¢ 1
2 g o

(a3 (B) 25% © 3 (D) 0.7

Which of the following cannot be probability of an event ?
2 ; 3

(A) 3 (B) 25% (C) 5 (B) 0.7
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